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This question paper contains two parts A and B.
part A is compulsory which carries 25 rnarks. Answer all questions in Part A.
part B consists of 5 Units. Answer any one full question from each unit. Each

questiol carries 10 marks and rnay have a, b, c as sub questions'

(25 Marks)

Time: 3 hours

J.

Fit a parabola of the forrn

X]
Y 3.7880

Fit a natural cubic sPiine

and yt 1.5)

1.a) Evaluate Ar(r).

b) Show that Alr :l.i',+.i,.,)Lf,.

, 'c)' Find two v'alues of x between'which the foot of xe'

d) Find y(0.2) and y(0.4) by Euler's method given that

= cosx',li'ei.
2

tx
v-- (l'' +l)

\- J

y(0) = 2.

t3l
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PART-B
(50 Marks)

)l a a+ bx+ cx' 1. . .. ' ,. ., .,.

'4 6 8 10

17.2460 41.4640 76.4420 122.t800 ll0l
OR

to the following data. Hence determine y(0.5), y'(0'4)
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e)'

f)

.-1- - then find a6 in F6urier series in:qq;6;.

of f is j- then find the fourier transform of f(at).
(s' + 1;

t3l

igl A rod of ilength t has iti"ends A and B kepr at 00C ana OOqC respectivdlr,'untii

steady state conditions prevail. Find u(x). 12)
/.,\

h) Forrn the partial differential equation from : : .f I : I t:l
I r/

,i), lf O:-rl'z then find (V/).. , ,.. : ,.,.: ,..: ,.1?1..

.il Il tr: l\.axt -z1r+x[)' - z ).t+2ry(:-xy)k is solenoidal then find a. J3l

[1 - x. o<x
Tf f (x): {

[0.3<.r<6

If the fourier transform

x 0 1 2

v 4 1 2



fourth order
.i'[10I,

Find y(0.2) and y(0.4) given that

Find the first derivative of f(x) at

Obtain d.boS.ine se

Obtain the Fourier
-,.:.,

Solve the partial d

Find the general s<

prove that F = (.v, cos, +

its scalar potential.

Verify Creen's theorem

)=xand ))=x2.

y' = .y - x, y(0) = 2, b = 0.2, using
I :r I r ;

x = 1.5 from the following table.

;.";ibi The velociry.V of a pariicle at a distance,sJiom a point on'its:path is given"btrr.the
following table.

t.5+51

6.a)

:ii"':

b)

OR

'":7:$.

a

Estimate tlie time taken to travel 60 ft using,simpson's 
f qr,, rrt.

l-t, il" -2< x < -l
I

Obtain the Fourier series for the function .f (*\:1 ,, if -l < x<l
I

I t,,/ .l.S x,!Z

Find the finite Fourier cosine transforms *(o-x)in (O,z).
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:[.101,

z')t+((zyri, *_ 4) i +3xz'?k) is irrotational and find

I 101

_170(d.("-'. :'):
i.,": i "'.

7T

-1x(tt2

0<x<1
l< x<2.
x 22: i':'.

=lhod px+cly: pq.

;2
^t o.u
L 
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I
. i: | ,, j x'

series for the function / (r)=,J
I

I /L A)

t

l*.
I

er cosine transform of J (x): !2- x,
I'..,' 1...' t0,

differential equation by Charpit's mt

OR
r)

srrlution of the wave equat iox {1 :

b)
"".- t".--

8.

0.

10.

a';
..i l

ii
OR

. t / ,\ -' , . ilor I (-^l + )'' klx - x'd\, wherb
I \r - /

| ,; t

c is bouni{ed "by

l10l

X 1.5 2.0 2.5 3.0 3.5 4.0
Y 3.37s 1.0 13.62s 24 38.87 59

s(ft) 0 10 20 30 40 50 60

V,,,,, 47 58 64 65 61 52 38
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